L esson 5A
GCSE (Year 9) Mathematics

Index Form
5A.1 Revision
Do NOT use a calculator
Marks available : 100
PART ONE
Question 1
Find the value of the following sums,
(1) -3 +7 (i) (=6)-(=5)
. (-12)
-3 -6
(i) (=3) x (-6) (V) =5
=9) . (16)
V) = (V) gy )
[ 6 marks]
Question 2

Write each of the follow numbers, which are in index form, as ordinary numbers
without any index.

(iy 25 (i) 8%
(i) 4 (iv) 131
(v) 71 (vi) 1%
(vii) 972 (viii) 67
(ix) 167 (x) 252

[ 10 marks]



Question 3
Simplify the following, giving your answer in index form;

. 7 3 .. 1113
2" x 2
(i) 2'x =
58 . 10
(i) = (iv) (3)
-3
(v) 13*x13 (vi) (7°)
[ 6 marks]
Question 4
Giventhata = 3, b = 10 andc = -2, evaluate the following,
(i) b+2a (i) a°b
(iii)  5b-3c (iv) b
a—-c
[ 8 marks]
Question 5
Simplify the following algebraic expressions,
(1) 7X + 3X — 4X (ii) 5(h-4)+ 12
(iii) 7x — 4y — 3x — 8y (iv) 2x° x 5%
(v) 4(u+6)+9 (vi) é?wmz

[ 6 marks]



PART TWO

Question 1
Write in prime index form p™, for some primep and some integen.
OS9Xx5x5x5%x5x%x5

[ TXTXTXTxT7 i
(i) XTX7Tx7TX (i) E X5
. 13 x 13 x 13
(iii) v/3x3x3x3x3x3 (iv) 3x 3x 3x 13
[ 4 marks]

Question 2
Write in prime index form p™, for some primep and some integen.
(iy 7Px7 (i) 5 x5 x5
Gii) 1P x 13 (iv) 178

11° _ 116
V) TF (vi) (19

5

(vii) 5 x5 (viii ) 77

[ 8 marks]



Question 3

Write in index form;

Ex2x2x2x5x5
5x5

(1) TX5x5x7x7 (i)

17x 13 x 13 x 13 x 13 x 13
17 x 13 x 13 x 13

(iii) V3x3x3x3x23x23 (iv)

[ 4marks]

Question 4
Write in prime index form p™, for some primep and some integen.
(i) Px3FxExP (i) 13 x 13° x 1%
(i) 172 x (175)5 (iv) 118 x 1110

(58)° | 3
V) 7y (vi) (29°)°

4 3

(vii) /720 (viii ) ((53) )

[ 8 marks]



Question 5

Simplify;
17
(i) pPxpx (i) £
5
(i) (p*) xp’ (iv) ¢
162
vy L) (vi) p°
p
2
19
(vii ) (%) (viii)  p® o+ p?
[ 8 marks]
Question 6
Write in prime index form p™, for some primep and some integen.
. 1 . 7x7
(1) 5x5x5 (i) TXT7TXTx7T
1 . 11
(=3 A TV

[ 4 marks]



Question 7

Write in prime index form p™, for some primep and some integen.

(i) 117 x113

(i) 1978 x (194)5

(i) 5 x5
(iv) 11726
. 11~ %3

(vi) —115

(vii) 238 x 23

[ 8marks]

Write in prime index form p™, for some primep and some integen.

O
(vii) 2:;
Question 8

(iii) %

214 x 275
(i) —g—o
27 x 2
. 2-23
V) 7w

[ 4 marks]



Question 9
Simplify;

(i) pxpixp xp?

(iii) (p_4)5 Rt

16\ 2
(V) %
19 |2
(vii) (%)

(ii) %}4
(iv) o 56
(vi) P
(viii ) (p_5)—8

[ 8 marks]



Question 10
Simplify;

10
(i) 7xpx6xp xp?8 (ii) 16p 7

(i) (2p5)7 (iv) + 49pl6

-8
v S (i) Jor2

-2

18p~9\°
(vii) (—p) (viii) (05 p3)

[ 8marks]
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